SCHOOL BASED ASSESSMENT 2022
GRADE 8 Model Paper

SCIENCE PART — A (Objective Type)
Part-A: 48 Marks, Part-B: 52 Marks, Total: 100 Marks

School Name (rL'KJ,C)

Student Name ((L'KH‘.,‘\L) Roll No

General Instructions  (=li4($s)
1. Read carefully and attempt all questions.
_Q_’fd’aﬂl/rl/“ulu.‘.’gcji_l

2. Encircle the correct option of each of the Multiple Choice Questions (MCQs) as shown in the
example given below.

_‘aﬂ\a()g)fg)lf'@’d)éf L;wfﬁu’u/,_,mé‘ ZJird& w2 sy

Example: Polio is caused by: i paf g
(a) bacteria L & (b) fungi de?
@virus J s (d) algae g

3. Use black/blue ink for writing. Use of lead pencil is not allowed.
e eI LS S I3k S L
4. If more than one options are encircled in a question, no mark will be given.

6L A0 S L izl ie LIt s

| Total Marks: 48 | Part-A (Multiple Choice Questions) | Total Time: 1 Hour 15 Minutes |

Instructions: Thirty two (32) Multiple Choice Questions (MCQs) are given in this part. Each question
carries 1.5 marks.

-uj/l.sLJ!Y/:-Q}’Z%}:;U!/L}@?UI}((32)£ﬁzdf~47u’l:ay4
Q. No.1. Which of the following is NOT a part of forebrain?

Cersum 5.2 s"au_ﬂqx./}yvuf St
(a) Cerebrum s BTN
(b) Cerebellum (Eu’ e Thiliis A S,
(c) Thalamus JE sk
(d) Hypothalamus (1 H‘P"‘hm‘“‘ms
SEL \etulla i T Spmal Cord
Corebelbom Aisyr -
Q. No.2. Which of the following actions is under our control? ?‘Lébéd;/dlhfl/uféu:ijglﬂ
(a) Breathing Lo (b) Blood circulation sy
(c) Heart beating 1 20> (d) Cutting nails 324
Q. No.3. Lithotripsy is used to remove stones from: _+JT rKL&&'d | P ot
(a) kidneys U (b) heart >
(c) lungs Uz (d) brain  {Ls
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Q. No.4. One cell of human body contains 46 chromosomes, number of chromosomes in a sperm is:
e AP prrs S S g Ll s prys JA6UEL LI L Ui
(@) 23 (b) 46 (c) 64 (d) 92
Q. No.5. Which of the following is inheritable character?

Ce G s Te Ui o
(a) Hand writing JtJJa’g (b) Language b
(c) Earlobe JSu¥ (d) Mole S
Q. No.6. Insulin is a biotechnological product. It is used for the treatment of:
S e D Lo L e by SR AL

(a) cancer & (b) AIDS 4l
(c) cholera .z (d) diabetes %
Q. No.7.The part of bacterium cell represented by X is: i e Y e XI? o6 2
(a) plasmid Lo : : 7
(b) cell wall Jisk - ‘*’ _x
(c) DNA DNA e
(d) flagellum = fag g

Q. No0.8. Toxic gases in air may cause:
U et o8 T i
(a) diabetes %3 (b) ulcer =
(c) dengue s (d) pneumonia i
Q. N0.9. Which two gases cause corrosion of stones used in buildings?
st n L /?,Lué.ndmufuijuu::‘c;uj s

(@) Oz and H; (b) SOz and NO>
(c) CHsand CO (d)'N2 and Cl
Q. N0.10. The result of ozone layer depletion is increase of--------- in the air.
b3t St R - &L S
(&) oxygen ‘f{u’ (b) UV radiations ys* UV
(c) carbon dioxide 1T d5ez8 (d) dust particles =L ¢
Q. No.11. Which activity is a good health habit?
?‘L.:«:lcﬂof‘&fl...grﬂ/uf
(a) Watching TV for long time uf;d;éj4)p;gj (b) Taking exercise regularly 6 s tins
(c) Sleeping only for 4 hours daily tyélgq‘/;u;,/ (d) Eating burger daily bW s
Q. N0.12. Which of the following is an example of chemical reaction?
PR M TN S PUY I
(&) Hydrolysis e (b) Freezing %4
(c) Condensation F (d) Melting  suef

Q. No0.13. Which of the following is an example of reaction in which heat is evolved?

?‘La}f@/u-‘.&/l/J&%Jﬂd/él‘)e‘ujfc—d-‘fdjgﬁ

(a) boiling of water L‘W&g (b) evaporation l;'e.;ut';.(&g

(c) fire work ST (d) decomposition of ammonia (5L
Q. No.14. xNa+Cl, — xNaCl

The above equation is balanced when: :_.,z‘ggnu)n;'auu&(du,,n

@ x=2 (b) x=3 (c) x=4 (d) x=6
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Q. No.15. The colour of methyl orange indicator in potassium hydroxide solution will be:
:‘gbn.ﬁuﬁdﬁaii’uﬁ/jﬂ(:L‘g(ﬁffcléuu’@

(@) yellow i (b) brown L# (c) blue (d) red L
Q. N0.16. Which of the following substances neutralizes acid? \ PSP EIS V- RU 151 P53 § P9
(@) Fe (b) FeCl (c) FeCOs (d) Fe(OH).
Q. No.17. The unit used to measure pressure is: el aJend Lo\ 2y
(a) Newton /¢ (b) Joule =z (c) Pascal f| (d) Ampere ~

Q. No0.18. The diagram shows a glass block placed on a table. The area of block in contact with the table is X
and area of table surface is Y. The weight of block is P and the weight of table is Q.
What is the pressure exerted by block on the table?

J w-c‘-QuJ,KJ’f sle-Pelsb ] Q-‘gY,}'/Kﬂ' SE J;l‘¢Xu‘¢uf£.DiV£J": 23K WA e LS @(zfug‘;r;)i;;

S B 2
S e
() QIX =
(d) Q/Y Table y
Q. No0.19. Pressure of gas in the container can be increased by: :(‘.&LLW. ‘../,Kufut,;”(
(a) increasing the volume of container 2 lox ¢ 2
(b) decreasing the temperature N2 f e EN
(c) decreasing the quantity of gas Lz ﬂu,&fd/uf
(d) increasing the quantity of gas _t&/mlisé . uf
Q. N0.20. Which of the following is NOT a physical quantity? :‘gu_fjumﬁy'ggﬂdsau
(a) Volume sis (b) Mass Jl
(c) Proton iy (d) Length * Ju

Q. No.21. The following figure shows a method of measuring diameter. What is the diameter of ball?
s Ryl e I 3 ALk L RSP THE

(@ 3.5cm (n) 11,2‘3' 4 |5 (\3<78 Y cm{
(b) 4.5 cm Z
(c) 5.0 cm 7 g
(d) 8.0cm ; ) P
\ //  Table x
TITTTTT7 T // T
Q. No.22. Density of water decreases when it is cooled from: g bl e dnf G50

a) 4°Cto0°C £0°C4°C b) 8°C to 4°C F4°Ce8°C
(a)
(c) 12°Ct0 8°C  £8°C12°C (d) 16°C to 12°C F12°C16°C

Q. N0.23. Which of the following is an example of application of expansion and contraction of solids?
‘-"LUJ:{J@'JJUHLfl/’ﬂulfﬂgérklu’ﬁc—dﬁd}g/ﬁ
(a) Telephone oL (b) Bimetallic strip § zdoss
(c) Electric motor 2»3. (d) Thermometer — » #
Q. N0.24. Why one end of bridge is not fastened firmly to the bank of a river?

Sl sl U e 4 M L s o LK

(a) Bridge contracts as the temperature decreases. -LLU;C‘QJ:(L‘L%{ L7 20
(b) River expands as more water passes through it. _g.C%Q/Jc;L/f L&gug;
(c) River contracts as less water passes through it. -Lgt'?/”gz:cg;d/'gﬁ&&ﬂ/

(d) More money is needed to fasten both the ends. —c_tsbs ol id L2 sle  Uds
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Q. N0.25. Which of the following is concavo-convex lens?
?‘LVUI):JU’E)"G;.:é/LUfJ.}gJﬂ
@ W
(b) X
© Y
(d) 2 W X Y z
Q. N0.26. The nature of image formed by concave lens is:
Object #* W :4.(:'314.1;9&:&!;75 IUI:&Lﬂ{éf

(a) real & “‘—\* e W

\

(b) inverted v T~L. |
(c) large 1% oF - T

| »
|

(d) virtual Sz J 5
LA
Q. No0.27. Which lens can be used to remove the defect shown in the figure?

"‘LO:VEJUW”)JLJ;(“Ld:d.)’ﬂu(uaﬁé’glacuf/j‘j

(a) Plano-concave g ——
(b) Convexo-concave &34 ‘
(c) Double concave ¥k
(d) Double convex 5 ks
Q. N0.28. The source of energy used for solar power generation is:

Yy

?‘Lb'ndb‘;’lpj/}l/ufﬂf.)lu.‘.'cﬁ')?u&)/
(a) coal e (b) sun G
(c) moving air PN (d) fission reaction F

Q. No0.29. Large areas of lands are covered in which of the following power generations?

S bl £ I mbiebt I AN ks i

(@) Thermal J# (b) Hydal . J
(c) Wind % (d) Nuclear %y

Q. N0.30. The component of an electronic system which converts input into output is:
e oree b S g 8TS ezt 60 )

() robot o (b) diode 3713
(c) transistor 1/ (d) processor sy
Q. No.31. Mean of transporting space stations into the space is: te AL S U Sl
(a) aeroplane ;Lg&m (b) helicopter 467
(c) rocket < (d) air bus A
Q. No0.32. In the following diagram of reflecting telescope, eyepiece is labelled as:
W X ‘4.{:@)&!)@?&7&(1)@6{6}’L~Jv}¢&ﬂ/
(a) W *\Xﬁ(
(b) X / i ¥
©Y / =\
CF: P )
_—
zZ \’\ /
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